O CARAT|  $-3010 ;™




2 CARAT

BOORSTATIEF S-3010

OMSCHRIJVING

ONDERDEELNR

55 | CILINDERKOPBOUT XST-FBC02000
56 | CILINDERKOPBOUT BZK M5x30 XAM-FBC730
57 | CILINDERKOPBOUT XST-FB(83500
58 | LAAGBOLK. BOUT BZK. XST-FBE12250
59 | ZESKANTBOUT XST-FC5140
60 | INZETSCHROEFDRAAD XS04-44000
61 | BORGMOER XAM-FM08BO
62 | BORGMOER M10 XAM-FM10B0
63 | ZESKANTMOER XST-FM120000
64 | ZESKANTMOER XST-FM200000
65 | SLUITRING XAM-FS0800
66 | SLUITRING XST-FS100000
67 | SLUITRING XST-FS120000
68 | SLUITRING XST-FS2000
69 | PASSCHIJF XST-FS20P300
70 | ZELFT.SCHROEF XST-FV0030
71 | *VEERRING XST-FV080000
72 | SLUITRING XST-FV10T0
73 | VEERRING XST-FV1200
74 | VERTANDE SLUITRING XST-FV20T0
75 | STELSCHROEF M6x16 XAM-FI0608
76 | LAMINAAT STICKER TBV TYPEPLAAT | XAM-N140281
77 | TYPEPLAAT XST-N14029
78 | HOUDER HORIZONTAAL XST-P11E023050
79 | LAAGBOLKOPSCHROEF XST-FBG82000

1 | STICKER DIEPTEAANDUIDING XST-79220900
2 | GLIIBLOK XST-79230100
3 | MINI VOETPLAAT S-3010 XST-793017CA
4 | KOLOM XST-793022K
5 | GLIJHUIS XST-793036CA
6 | KOLOM BLOK XST-793101

7 |HULS XST-793111A0
8 |HULS XST-793111B0
9 | TANDHEUGEL XST-79320100
10 | KOLOMSTEUN XST-79320300
11 | KOLOMSTEUN XST-793208
12 | TANDWIEL SPINDEL XST-79330500
13 | GLIJLAGER SPINDEL XST-79330600
14 | GLIJLAGER SPINDEL XST-79330700
15 | *DEKSEL XST-79331000
16 | AANSLAG STRIP XST-79331100
17 | HANDVAT COMPLEET TBV S-3000 | XST-79334800
18 | KOPPELING COMPLEET XST-793349
19 |KOLOM (LANG) XST-795013X0
20 | SCHUINZETSTANG XST-795024X0
21 | SCHUINZETSTANG XST-795025X0
22 | TANDHEUGEL XST-795026
23 | BRUGSTUK XST-795027X0
24 | STELSCHROEF (SET) XST-79800090
25 | KLEMSCHROEF XST-79800540
26 | STELBOUT XST-79800700
27 | WIELBUS XST-79800710
28 | BRUGSTUK XST-79800740
29 | *KLEMBUS XST-79800750
30 | VOETPLAAT 5-3000 XST-79800880
31 | KLEINE SPINDEL XS04-55000
32 | SPINDEL XST-79800920
33 | HANDGREEP XST-7980011A
34 | "MOTORPLAAT 3/8"" KOMPL." XST-7B05C500
35 | STEMPELPAAL COMPLEET XST-8S030XSL
36 | LIBELLE RECHTHOEK XST-A5026000
37 |0-RING XAM-E4017B
38 | 0-RING XST-E4020A00
39 | KOGELLAGER 61903 XAM-EA033A
40 | KOGELLAGER XST-EA040A00
41 |WIEL XST-F0031000
42 |LIBELLE XST-F1066000
43 | AFDEKDOP XST-F4121600
44 | DRUKSTUK XST-F4261100
45 | SPIE XST-F6R31200
46 | BOUT XST-FB1016
47 | BOUT XST-FB1020
48 | ZESKANTBOUT XST-FB1025
49 | BOUT XST-FB1030
50 |BOUT XST-FB1040
51 | BOUT XST-FB1130
52 | BOUT XST-FB2120
53 | LAGE CILINDERKOPBOUT M6x16 | XAM-FBB616
54 | LAGE CILINDERKOPBOUT BZK XST-FBB82000

ONDERDELENLIJST BOORSTATIEF S-3010

01/01/2014




